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Copper chloride forms solid crystals. Ethanol is a form of alcohol. When 20 g of copper chloride is added to a beaker containing 200 g of ethanol at 25 °C and the mixture is stirred, the crystals get smaller and disappear.

1 Why do the copper chloride crystals disappear? 

2 The solubility of copper chloride in ethanol is 67 g in 100 g of ethanol at 15 °C. What would you see if you added the following amounts of copper chloride to ethanol and stirred? Explain your answers.

a 61 g copper chloride to 100 g ethanol at 15 °C

b 76 g copper chloride to 100 g ethanol at 15 °C

c 60 g copper chloride to 60 g ethanol at 15 °C

d 76 g copper chloride to 100 g ethanol at 25 °C

3 In the mixture of copper chloride and ethanol, which substance is the solvent and which is the solute? Explain your answers.

4 a
What is the mass of the contents of the beaker after the copper chloride has disappeared?

b
Explain your answer to part a.

5 The solubility of copper chloride in ethanol is 53 g in 100 cm3 at 15 °C.
What would you see if you added the following amounts of copper chloride to ethanol and stirred? Explain your answers.

a
48 g copper chloride to 100 cm3ethanol at 15 °C 

b
60 g copper chloride to 100 cm3 ethanol at 15 °C 

c
48 g copper chloride to 60 cm3 ethanol at 15 °C 

d
60 g copper chloride to 100 cm3 ethanol at 25 °C 

I can…

· explain how soluble substances form clear solutions
· describe the effect of temperature on solubility.
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